“l
3

>,

(@ og{

| &¥o A\ EELE(KmEm)
x0)

E DOERE(BMUDKYTHYHY) 3 (I)
V]

ROGEELZL LD,
| km—800m

2km200m —900m
| km300m—650m
3km—700m

| km600Om —800m

. R NFE - RRERT o NERFB U

-—?—%' .com

2COF

F B &

2km—250m

2km 1 00m—350m

4km800m —850m

3km300m —450m

5km200m —900m

BTV MiWebH+ M SERITID>O— RTEET,



V__} bob
0 N RXDIAVERLA(KmEm) & @ &
N g EXOUVEE (BEDCYTHYHY) 3 (2)

l

ROHELELIL LD,

| km400m—900m | km | 50m—500m
Tkm —200m 3km300m —650m
Gkm—550m 2km500m —600m
2km250m —550m | km50m — 100m

2km50m —&800m 8km200m —400m

. R NFE - RRERT o NERFB U

-_?_%l com ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



V__} Hob
0 N RXDIAVERLA(KmEm) & “ a2
N g EXOUVEE (BENYTHYHY) 3 (3)

l

ROHELELIL LD,

| km500m —880m 3km200m —800m
5km400m —550m Tkm50m —650m
2km 1 50m—400m 4km—500m

| km750m —950m 2km 1 00m—200m
6km—750m | km—350m

. R NFE - RRERT o NERFB U

-_?_%l com ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



“l
3

>,

(@ og{

| &¥o t- A\ EE LA (KmEm)
x0)

E DOERE(BMUDKYTHYHY) 3 (4)
4

ROHEELEL L,
| km200m —550m

5km 1 50m —400m
| km500m —900m
4km600m —"750m

| km450m —850m

. R NFE - RRERT o NERFB U

-—?—%' .com £COF

3

B &

3km—800m

2km 1 00m—950m

8km800m —850m

3km200m—600m

dkm |1 50m—500m

BTV MiWebH+ M SERITID>O— RTEET,



“l
3

>,

(@ og{

| &¥o A\ EELE(KmEm)
x0)

E DOERE(BMUDYTHYHY) 3 (5)
V]

ROHEELEL L,
4km250m —500m

| km550m —"700m
| kmm—50m
2km450m —700m

6km50m —500m

. R NFE - RRERT o NERFB U

-—?—%' .com

F B &

| km600m —800m

3km200m —950m

3km 1 00Om—950m

| km | OOm—200m

| km850m —900m

ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



“l
3

>,

(@ og{

| &¥o A\ EELE(KmEm)
x0)

E DOERF(BMUDKYTHYHY) 3 (6)
V]

ROHEELEL L,
| km500m—"750m

2km900m —950m
3km200m—950m
| km50m —500m

| km500m —850m

. R NFE - RRERT o NERFB U

-—?—%' .com

F B &

4km50m —400m

| km300m—800m

| km4OOm—650m

5km400m —500m

3km 1 0O0Om—300m

ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



“l
3

>,

(@ og{

| &¥o t- A\ EE LA (KmEm)
x0)

E DOERE(BMUDKYTHYHY) 3 (7)
4

ROHEELEL L,
3km200m—950m

3km350m—400m
| kmm—50m
| km50m —800m

| km750m —900m

. R NFE - RRERT o NERFB U

-—?—%' .com

F B &

2km400m—750m

| km300m—850m

4km600m —850m

5km400m —500m

| km350m —800m

ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



“l
3

>,

(@ og{

| &¥o A\ EELE(KmEm)
x0)

E DOERE(BMUDKYTHYHY) 3 (8)
V]

ROHEELEL L,
2km500m —600m

| km300m—850m
| kmm —950m
| km250m —400m

3km50m —800m

. R NFE - RRERT o NERFB U

-—?—%' .com

F B &

2km450m—700m

2km900m —950m

3km250m—600m

| km450m—800m

| km350m —800m

ETOFET U b WebH+ bHSERTHY D> O-RTEFT,



| EXDEAVEELS (KmEm)
V EXOUVEEBELOYTAYSHY) 3 (1)
ROTEELFL LS,

lkm—800m = 1000m—800m
=200m

2km200m —900m=2200m —900m
= |1 300m
= | km300m

lkm300m—650m = | 300m—650m
=650m

3km—700m =3000m—700m
=2300m
=2km300m

lkm600m —800m=1600m—800m
=800m

A SR INPE - RPERL FOBRIEB AU A

II?%E

. com 2COF

&

B &

2km—250m =2000m —250m
= 1|750m
= | km750m

2km 1 O0Om—350m =2100m—350m
= |750m
= | km750m

4km800m —850m =4800m —850m
=3950m
=3km950m

3km300m—450m =3300m—450m
=2850m
=2km850m

5km200m—900m =5200m—900m
=4300m
=4km300m

BTV M WebH - M SENTY DS O— RTEET,



\\I )g
i
V

EXDfAVERLE(kmEm)
EXOVIEEHOYTAYSHY) 3 (2)

ROHEELELLS,

| km400m—900m = | 400m —900m
=500m

Tkm—200m =7000m —200m
=6800m
=6km800m

9km—550m =9000m —550m
=8450m
=8km450m

2km250m—550m =2250m—550m
= |700m
= | km700m

2km50m —800m =2050m—800m
= 1250m
= |km250m

A SR INPE - RPERL FOBRIEB AU A

II?%E

. com 2COF

= B &

lkm150m—500m =1 150m—500m
=650m

3km300m—650m =3300m—650m
=2650m
=2km650m

2km500m —600m =2500m —600m
= 1900m
= | km900m

| km50m—100m = 1050m— 100m
=950m

8km200m —400m =8200m —400m
=7800m
=T7km&800m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXOUVEEELOYTAYSHY) 3 (3)
ROTEELFL LS,

| km500m—880m = | 500m —880m
=620m

5km400m—550m =5400m—550m
=4850m
=4km&850m

2km 150m—400m =2150m—400m
= |750m
= |km750m

lkm750m—950m = | 750m —950m
=800m

6km—750m =6000m —"750m
=5250m
=5km250m

A SR INPE - RPERL FOBRIEB AU A

-—?—%’ IM.com £TCOF

= B &

3km200m —800m =3200m —3800m
=2400m

=2km400m

Tkm50m—650m=7050m—650m
=6400m
=6km400m

4km—500m =4000m—500m
=3500m
=3km500m

2km 1 00m—200m =2100m—200m
= 1900m
= | km900m

|km—350m = 1000m—350m
=650m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXOUEEBEHOYTHEYSHY) 3 (4)
ROTEELFL LS,

lkm200m—550m = | 200m —550m
=650m

5km 150m—400m =5150m—400m
=4750m
=4km750m

lkm500m—900m = | 500m—900m
=600m

4km600m —750m =4600m—"750m
=3850m
=3km3850m

lkm450m —850m = 1450m—850m
=600m

A SR INPE - RPERL FOBRIEB AU A

-—?—%’ IM.com £TCOF

&

B &

3km—800m=3000m—800m
=2200m
=2km200m

2km 1 OOm—950m =2100m—950m
=1 150m
=|kmI|50m

km800m—850m =8800m —850m
=7950m
=T7km950m

3km200m—600m =3200m —600m
=2600m
=2km600m

Gkm150m—500m =9150m—500m
=8650m
=8km650m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXOVEEELDOYTHYHY) 3 (5)
ROHEELEL LD,
4km250m—500m =4250m —500m

=3750m
=3km750m

lkm550m—700m = | 550m —700m
=850m

lkm—50m = 1000m—50m
=950m

2km450m—700m =2450m—"700m
= |750m
= | km750m

6km50m —500m =6050m—500m
=5550m
=5km550m

A SR INPE - RPERL FOBRIEB AU A

-—?—%’ IM.com

2COF

= B &

| km600m —800m = 1 600m —800m
=800m

3km200m—950m =3200m —950m
=2250m
=2km250m

S3kmIOOm—950m =3100m—950m
=2150m
=2km|150m

lkm 1 00m—200m = | 100m—200m
=900m

| km850m —900m = 1850m—900m
=950m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXOVEIEEMOYTAYSHY) 3 (6)

ROHEELELLS,

lkm500m—750m = | 500m —"750m
=750m

2km900m—950m =2900m —950m
= 1950m
= | km950m

3km200m—950m =3200m—950m
=2250m
=2km250m

lkm50m—500m = 1050m—500m
=550m

| km500m —850m=1500m—850m
=650m

A PR NPE - RPEES ORNSE TR A

By .com

2COF

= B &

4km50m —400m=4050m—400m
=3650m

=3km650m

| km300m—800m = | 300m —800m
=500m

| km400Om—650m = 1400m—650m
=750m

5km400m—500m =5400m—500m
=4900m
=4km900m

3kmIO0Om—300m =3100m—300m
=2800m
=2km&800m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXQUEEBEHOYTHEYSHY) 3 (7)
ROTEELFL LS,

3km200m—950m =3200m—950m
=2250m
=2km250m

3km350m—400m =3350m—400m
=2950m
=2km950m

lkm—50m = 1000m—50m
=950m

| km50m—800m = 1 050m —800m
=250m

lkm750m —900m=1750m—900m
=850m

A SR INPE - RPERL FOBRIEB AU A

-—?—%’ IM.com

2COF

= B &

2km400m—750m =2400m—"750m
= | 650m

= | km650m

| km300m—850m = | 300m —850m
=450m

4km600m —850m =4600m —850m
=3750m
=3km750m

5km400m—500m =5400m—500m
=4900m
=4km900m

| km350m—800m = 1 350m —800m
=550m

BTV M WebH - M SENTY DS O— RTEET,



| EXDEAVEELS (KmEm)
V EXOUVEEBELNYTAYSHY) 3 (8)
ROTEELFL LS,

2km500m—600m =2500m—600m
= [1900m
= | km900m

lkm300m—850m = | 300m —850m
=450m

lkm—950m = 1000m—950m
=50m

lkm250m—400m = | 250m —400m
=850m

3km50m —800m =3050m—800m
=2250m
=2km250m

A PR NPE - RPEES ORNSE TR A

By .com

EXEY)

= B &

2km450m—700m =2450m—"700m
=1750m
= |km750m

2km900m—950m =2900m —950m
= |1950m
= | km950m

3km250m—600m =3250m—600m
=2650m
=2km650m

| km450m—800m = [ 450m —800m
=650m

| km350m—800m = 1350m—800m
=550m

FBT U b WebB+ bOSENTY D> O—- R TEFT,



	3-01
	3-02
	3-03
	3-04
	3-05
	3-06
	3-07
	3-08
	3-01_a
	3-02_a
	3-03_a
	3-04_a
	3-05_a
	3-06_a
	3-07_a
	3-08_a

